To divide by powers of 10

1) There are 300 children in school and they are shared equally into 10 classes. How many children in each class?

2) The jackpot prize was £15,430 and 100 people bought a winning ticket so the money was shared equally between them. How much money will each person win?

3) I have 1700 pennies. How many pounds would this make?

4) James has 350 football cards. Mike has 1 tenth of that amount. How many does Mike have?

5) [image: ]









6) For this question, you can only use each number once.
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PowerPoint Presentation

Reasoning and Problem Solving

Four children are in a race. The numbers While in Wonderland, Alice drank a potion

on their vests are: and everything shrank. All the items
around her became ten times smaller!
Are these measurements correct?

Original After

Item
measurement | _shrinking

Heightof adoor | 220 cm 2200 cm

Use the clues to match each vest number Her height 80cm 16em
to a child. Length of a book 340 mm 43mm

Heghtofamug | 220 mm ?

Jack's number is ten times smaller
than Mo's.
Alex's number is not ten times

smaller than Jack's or Dora's or Mo's. Can you explain what Alice did wrong?
Dora's number is ten times smaller

Can you fill in the missing measurement?

than Jack's. Write a calculation to help you explain
each item.
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Eva and Whitney are dividing numbers by | They started with Use the digit cards to filin the missing 170+ 10 =17

10 and 100 2800 digits. 320 x 10 = 3200

They both start with the same 4-digit 1860 + 10 = 186

number. 11(21(3]|4(|5(|6][7][8]|9 59:( 100= -
Whitney divided by 5900

They give some clues about their answer. | 10 to get 280 and 70+10=__ 64=6400 =
Eva divided by 100 100

O =
= My answer has 8 ones | ' ' » —20x10=3.00
Eva and 2 tens. 18_0+10=1_6

My answer has 2 _9x100=5_00
hundreds, 8 tens and O
ones. Whitney 6_= 6400+ 100

What number did they both start with?
Who divided by what?
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